Oddziat Okulistyki

ROr

T31a

Pi=229 kW

Ps= 1157 kW
YOYp3xismm2  wt 10A K
1,87 WWpom. nr 2110 |p p \Orp3x25mm Wt 16A K
YOredxismm2 w 10A K
1,87 WN pom. ar 218 |p . \Drp3x25mm2 wh 16A K
Orp3xismm wt 10A K
1,87 WWpom.nr218 |[p p YDYp3x 25 mm2 w 16A°K
YOYp3xiSmm2 wt 10A°K
1,87 KWW pom.nr 218 {p.pn \Orpsx2smme wt 16A°H
YOYp3xismm2 wt 10A°K
1,87kWpom.nr 28 |p n, YOrpix2smm Wt - 16A K
YOrpixismm  wt 10A°K
1,87KWpom.nr28 [p Vovpsx2smme  wm 16A K
YOYp3xismm2 wt 10A "€
1,87kWpom.nr 28 |p.n. \Drp3x2smm2 wt 16A K
YDYp3000715mm wt 10A K
1,87 kW pom. nr 213 [p n Drp3x2smme wt 16A K
YOYp3000715mm wit 10A K
1,87 kW pom.nr 213 |p.pn \Drpsx2smm . 16A K
YOYp3x15mm2 wt 10A K
1,87 kW pom.nr 213 |p.n Drosx25mm wt 16A°H
YOYp3x1smm2  wit 10A K
1,87 W pom.nr 216 [p. Vovpax2smme . 16A°K
YOYp3x1Smm2 wit 10A K
1,87 W pom. nr 216 |p.n Vovpsx2smm2  wt 16A K
———————YDYp3x 15 mm2 10A "%
187 WWpom.nr 218 |p.n Vorpsx2sm2 wt 186A°K
YOYp3xismm2 wt 10A°K
1,87 kW pom. ar 2118 | p.n vOvpsx2smm2  wt 16A°K
b e .

:

Inst. przyzywowa Yipaxionee - 2301 A

aio 230724V P312.86

180VA

pom. 21328, 210, 241, 214, 2115, 2119 - 226 kW Yotp3x1Smm2_wn 10A°%
pom. 2/1, 212, 2/8, 218, 2113 - 1,68 kW Yovpsxtsmz wt 10A°%
pom. 2118, 2121-2/24 - 1,74 KW Yorp3xtsmmz  wt 10A°6

pom. korytarz, 2112 - 1,15 KW Yovp3xismm2  wit 10A "R

pom. 216, 2118, 221 -30KN 2 YOYp3x25mm2  wA 16A H

pom. 212,222, 223 - 2T RN 2 Yovp3x25mm2  wA 16A°K

pom. 2/1, 22 -30KN 2 YOYp3x25mm2  wh 16A°K

pom. 28, 29, 213 - 2.4 kW YDYp3x25mm2  wh 16A K

pom. 23, 24, 215 - 24 KW YOYp3x25mm2  wA 16A K

pom. 26, 277, 210, 21, 2114, 215,219 -3.0KW 2 YYp3x25mm2  wh 16A 78
1300 pom 21 ke YDYp5x25mm2 Wi 16A K

wentylacja - 1,21 KW YOYp3x25mm2  wh 16A°K

YOYp5x25mm2  wh 16A°K

wentylacja - 4,8 kW

-
pom. 211, 22-02KN s YOYp3x15mm2  wt 10A B~
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